Voriational CD Driving  
recall : 
$$A_{\lambda} := (i \mathcal{D}_{\lambda} \mathcal{U}_{\lambda}) \mathcal{U}_{\lambda}^{+}$$
,  $\mathcal{R} \mathcal{U}_{\lambda}^{+} \mathcal{H}_{\lambda} \mathcal{U}_{\lambda} = diagonal$   
. For a non-int. many body system,  $\mathcal{U}_{\lambda}$  is generated  
by a nonlocal operator  
 $\Rightarrow isne : \mathcal{H}_{\lambda}$  is a unlocal up. (As generates  $\mathcal{U}_{\lambda}$ )  
 $\Rightarrow$  cannot be implemented in the lab  
 $\mathcal{Q}: \text{ can we hind a good local approximation?}$   
recall : def of gauge pot.  
 $\mathcal{D}_{\lambda} \mathcal{H} + i [\mathcal{A}_{\lambda}, \mathcal{H}] = -\mathcal{M}_{\lambda}$   
 $\det$ :  $\mathcal{G}_{\lambda}(\mathcal{X}) = \mathcal{D}_{\lambda} \mathcal{H} + i [\mathcal{U}_{\lambda}, \mathcal{H}]$  op - valued turbing  
 $\mathcal{L}_{unknown}$  op.  
 $\Rightarrow$  if  $\mathcal{G}_{\lambda}(\mathcal{X}) + \mathcal{M}_{\lambda} = \mathcal{D}$ , then  $\mathcal{X} = \mathcal{A}_{\lambda}$   
 $idea: cast problem of looking for a sole to
 $\mathcal{G}_{\lambda}(\mathcal{X}) + \mathcal{M}_{\lambda} = \mathcal{D}$  as optimized in problem with  
 $\Rightarrow$  since  $\mathcal{G}_{\lambda}(\mathcal{X}) + \mathcal{M}_{\lambda} = \mathcal{D}$  as  $\mathcal{O}_{\lambda}(\mathcal{H}) + \mathcal{M}_{\lambda}$   
 $\mathcal{D}^{2}(\mathcal{X}) := hr \left[ (\mathcal{G}_{\lambda}(\mathcal{K}) + \mathcal{M}_{\lambda})^{2} \right] = hr \mathcal{G}_{\lambda}^{2} + hr \mathcal{M}_{\lambda}^{2} + 2 + r \mathcal{M}_{\lambda} \mathcal{G}_{\lambda}$   
 $\mathcal{D}^{2}(\mathcal{X}) = \mathcal{D} \quad (\Rightarrow) \mathcal{G}_{\lambda} = -\mathcal{M}_{\lambda}$$ 

$$= \operatorname{calenke}:$$

$$+ \operatorname{Ma} \operatorname{Ga}_{x} = \operatorname{tr} (\operatorname{Ma} \operatorname{Qa} \operatorname{H}) + \operatorname{i} \operatorname{tr} (\operatorname{Ma} (\operatorname{K}, \operatorname{H})) = - \operatorname{Ha}^{z}$$

$$= \operatorname{tr} ([\operatorname{Ma}, \operatorname{H}] \times) = 0$$

$$\operatorname{Ma} = \frac{1}{2} [(\operatorname{Qa} \operatorname{E}_{-}) \operatorname{In} > \operatorname{cu}]$$

$$= \operatorname{tr} (\operatorname{Ma} \operatorname{Qa} \operatorname{H}) = \operatorname{tr} (\operatorname{Ma} (-\operatorname{i} [\operatorname{Aa}_{-}, \operatorname{H}] - \operatorname{Ma}))$$

$$= -\operatorname{i} \operatorname{tr} ([\operatorname{Ha}, \operatorname{H}] \operatorname{Aa}) - \operatorname{tr} \operatorname{Ma}^{z}$$

$$= -\operatorname{tr} \operatorname{Ma}$$

$$\frac{\delta Grum}{\delta N_{ij}} = \frac{\delta}{\delta N_{ij}} \left( \frac{\partial x H_{un}}{\partial dep} + i \left( [X, H] \right)_{un} \right)$$

$$= i \frac{\delta}{\delta N_{ij}} \left( X_{ue} H_{eun} - H_{ue} X_{eun} \right)$$

$$= i \left( \delta in \delta je H_{eun} - \delta ie \delta ju H_{ue} \right)$$

$$= i \left( \delta in \delta je H_{eun} - \delta ie \delta ju H_{ue} \delta un$$

$$= H_{ju} \delta ui - \delta ju H_{ui}$$

$$= \left( [H, G] \right)_{ji}$$

$$\Rightarrow \frac{\delta S}{\delta N} \stackrel{!}{=} 0 \quad \Leftrightarrow [H, Gr] \stackrel{!}{=} 0$$

$$\Rightarrow [H, O_{\lambda} H + i [N, H]] \stackrel{!}{=} 0$$

$$defining eg. for A_{\lambda}, rolved by N = A_{\lambda} + cH$$

$$= keast action principle allows us to cast Hee
problem of Hinding A_{\lambda} as a variational optimization
problem:
$$\frac{ausatz}{N} : N_{\lambda} = \sum_{n} A_{n} (A) O_{n}$$

$$\frac{ausatz}{N} : N_{\lambda} = \sum_{n} A_{n} (A) O_{n}$$

$$\frac{ausatz}{N} : S[N] = S(M_{n})$$$$

goal: field 
$$\mathcal{K}_{L}(A)$$
, s.t.  $\mathcal{K}_{A} \approx \mathcal{K}_{A}$   
This has parse of  $D^{2}$   
 $precedure: i) \frac{\partial S}{\partial \mathcal{K}_{L}} \begin{bmatrix} \mathcal{K}_{A} \end{bmatrix} \stackrel{!}{=} D$   
 $ii) solve for du
 $iii)$  unite dama  $\mathcal{K} = \sum \mathcal{K}_{A} Q_{A}$   
 $- consider H(A) real-valuections
 $= \mathcal{K}_{A} = i (2\pi) \mathcal{K}_{A} = \mathcal{K}_{A} = i (2\pi) \mathcal{K}_{A} = -i (2\pi) \mathcal{K}_{A} =$$$ 

$$\langle n|A_{\lambda}|n\rangle = \lim_{t \to 0^+} \int_{0}^{\infty} dt \ e^{-\varepsilon t} \sum_{k=0}^{\infty} \frac{(-it)^{2k+l}}{(2k+l)!} \langle n|[[H, ..., (H, \partial_{\lambda}H]]|n\rangle$$

$$def: A_{\lambda} = \left(\lim_{\substack{\ell \to 0^+}} \int_{0}^{\infty} dt e^{-ct} \ge \frac{(-it)^{2h+1}}{(2h+i)!} \underbrace{[IH, ..., (H, \partial_{\lambda}H]}_{odd} - \mathcal{M}_{\lambda}\right)_{g}$$

=> ausatz for gauge pod.  

$$X_{2} = \sum_{n} d_{2n+1} [H_{1}, ..., [H, O_{2}H]]$$
  
 $vaniational$   
vaniational  
wellicients

examples:  
i) 2LS verilited: 
$$H(\lambda) = \Delta \sigma^{2} + \lambda \sigma^{*}$$
  
activite:  $K_{\lambda} = \chi \sigma^{*} + \beta \sigma^{2} + \gamma \sigma^{*}$   
(all possible operators)  
meed:  $\partial_{\lambda} S$ ,  $\partial_{\beta} S$ ,  $\partial_{\gamma} S$   
i) compute:  $S[K] = + G^{*}(K)$   
 $G[X] = \partial_{\lambda} H + i [X, H]$   
 $= \sigma^{*} + i [\chi \sigma^{*} + \beta \sigma^{3} + \gamma \sigma^{*}, \Delta \sigma^{2} + \lambda \sigma^{*}]$   
 $= \sigma^{*} + 2 (\chi \Delta \sigma^{2} - \beta \Delta \sigma^{*} + \beta \lambda \sigma^{*} - \gamma \lambda \sigma^{3})$   
 $= (1 - 2\beta \Delta) \sigma^{*} + 2(\chi \Delta - \gamma \lambda) \sigma^{-2} + 2\beta \lambda \sigma^{*}$ 

$$(r^{2}[K) = (I - 2\beta\Delta)^{2} + 4(\lambda\Delta\gamma\lambda)^{2} + \gamma(\beta\lambda)^{2} + \sum_{i} f_{i}(I...)\sigma^{i}$$

$$S = hr (r^{2}[K) = 2[(I - 2\beta\Delta)^{2} + 4(\lambda\Delta\gamma\lambda)^{2} + \gamma(\beta\lambda)^{2}]$$

$$= hr (r^{2}[K) = 2[(I - 2\beta\Delta)^{2} + 4(\lambda\Delta\gamma\lambda)^{2} + \gamma(\beta\lambda)^{2}]$$

$$= hr (r^{2}[K) = 2[(I - 2\beta\Delta)^{2} + 4(\lambda\Delta\gamma\lambda)^{2} + \gamma(\beta\lambda)^{2}]$$

$$= \int_{a} g_{i} S = \Delta((\lambda\Delta-\gamma\lambda) = 0$$

$$= \int_{a} g_{i} S = -\lambda((\lambda\Delta-\gamma\lambda) = 0$$

$$= \int_{a} (\lambda\Delta-\gamma\lambda) = 0$$

$$= \int_{a} (\lambda\Delta-\gamma\lambda) = 0$$

$$= \int_{a} f_{i} S = \gamma\lambda = relation Sh (d, \gamma) (*)$$

$$= \int_{a} (\Delta-\gamma\lambda) = 0$$

$$= \int_{a} (\lambda\Delta-\gamma\lambda) = 0$$

$$= \int_{a} f_{i} S = \gamma\lambda = relation Sh (d, \gamma) (*)$$

$$= \int_{a} (\Delta-\gamma\lambda) = 0$$

$$= \int_{a} f_{i} S = \frac{1}{\Delta^{2}+\lambda^{2}} = 0$$

$$= H(\Delta)$$

$$= H(\Delta)$$

$$= H(\Delta)$$

$$= reparametrize: J_{x} = \frac{1+\lambda}{2} J = exclarge scale$$

$$= J = \frac{1-\lambda}{2} J = exclarge scale$$

- consider votating 
$$\overline{H}$$
 about  $\overline{e}$ -axis at angle  $\frac{\beta}{2}$   
 $H_{\beta} = \overline{f} e^{-i\frac{\beta}{2}} \frac{\overline{\sigma}^{2}}{2^{3}}$   
=>  $H(\gamma, \beta, h) = U_{\beta}^{*} \overline{H}(\gamma, h) U_{\beta}$   
- symmetries: i)  $H(\gamma) = H(-\gamma) = s$  vestrict to  $f^{2} D$   
ii)  $H(\beta) = H(\beta + \pi) : \overline{\sigma^{*}} \to \sigma^{*}$   
 $\sigma^{*} \to I - c_{1}^{*}c_{1}^{*}$ ,  $\sigma^{+} \sim \overline{f} \sigma^{*} c_{1}^{*}$   
 $f_{\gamma} \circ to$  noncentrum space:  
 $H = \sum_{k \in B^{2}} \gamma_{k}^{*} H_{k} \gamma_{k}$ ,  $H_{k} = -\left( \begin{array}{c} h - \omega_{1}k \\ \gamma_{1}ik e^{-i\beta} \end{array} \right) (h - \omega_{k}k)$   
 $Marshi spicer \gamma_{k} = \left( c_{k}^{*}, c_{k} \right)$   
Homiltonian veduces to a collection of independent  
 $2LS'_{5}$ , one for each noncentrum node  $k$ , described  
by  $H_{k}(\gamma, \beta, h)$   
-  $3$  pavameters to true:  $\overline{A} = I\gamma, \beta, h$   
 $\Rightarrow$  under avsate for varil gauge potential work  $\gamma, \beta, h$   
 $\Rightarrow$  under avsate for varil gauge potential  $\gamma \in A$ ,  $A_{k}^{*}(S)\sigma^{*} + A_{k}^{*}(S)\sigma^{*}$ 

$$i[X_{u}, H_{u}] = (\lambda^{y}(h - \omega_{1} u) - \lambda^{2} y \sin k \sin \beta) \sigma^{x}$$

$$+ (\lambda^{e} y \sin k \cos \beta - \lambda^{x}(h - \omega_{2} k)) \sigma^{z}$$

$$+ y \sin k (\lambda^{x} \sin \beta - \lambda^{y} \cos \beta) \sigma^{z}$$

$$- a chion: for A_{u}: G_{u}(\lambda^{2}) = \partial_{u} H_{u} + i [X_{u}, H_{u}]$$

$$\frac{1}{2} S_{u}[X] - (-1 + \lambda^{x} y \sin k \sin \beta - \lambda^{y} y \sin k \cos \beta)^{z}$$

$$+ (\lambda^{y}(h - \omega_{1} k)) - \lambda^{z} y \sin k \sin \beta)^{2}$$

$$+ (\lambda^{z} y \sin k \cos \beta - \lambda^{x}(h - \omega_{1} k))^{2}$$

$$- 2 \min \alpha \sin \alpha \alpha \cosh \beta - \lambda^{x}(h - \omega_{1} k)^{2}$$

$$- 2 \min \alpha \sin \alpha \beta - \lambda^{x} (h - \omega_{1} k)^{2}$$

$$- 3 \min \alpha \sin \alpha \beta - \lambda^{x} (h - \omega_{1} k)^{2}$$

$$d_{k}^{y} = - \frac{y \sin k \cos \beta}{y \sin^{2} k + (k - \cos k)^{2}}$$

Le = D  
- > vead off gange pod.:  
A<sub>h</sub> = 
$$\frac{1}{2} \sum_{k} \frac{\gamma \sin k}{(kosk - h)^2 + \gamma^2 \sin^2 k} \qquad \gamma_{k} \left( \sin \phi \sigma^{x} - \cos \phi \sigma^{2} \right) \gamma_{k}$$
  
-> similarly for Ay, Ap

⇒ gauge potential contain long strings of Ponli op's  
when written in terms of the original spin op's  
(inverting IW transd.)  
to see this: fix y = 1, Ø = 0  

$$A_{L} = -\frac{1}{2} \sum_{u} \frac{\sin k}{(a + b)^{2} + \sin^{2}k} \qquad y^{t}_{u} = 0^{-2} \quad y_{u}$$
  
 $u = i)y_{u}^{t} = 0^{-2} \quad y_{u} = \frac{1}{L} \sum_{e} \sin(k) \sum_{i} i(c_{i}^{+} c_{e}^{+}c_{e} - c_{i}u c_{i})$   
 $iv_{u} = 0^{-2} \quad y_{u} = \frac{1}{L} \sum_{e} \sin(k) \sum_{i} i(c_{i}^{+} c_{e}^{+}c_{e} - c_{i}u c_{i})$   
 $iv_{u} = 0^{-2} \quad y_{u} = \frac{1}{L} \sum_{e} \sin(k) \sum_{i} i(c_{i}^{+} c_{e}^{+}c_{e} - c_{i}u c_{i})$   
 $iv_{u} = \sum_{i} \sigma_{i}^{+} \sigma_{i}^{+}u \cdots \sigma_{i}^{+}e^{-1} \quad \sigma_{i}^{+}e^{-1} \quad \sigma_{i}^{+}e^{-1} \quad \sigma_{i}^{+}e^{-1} \quad \sigma_{i}^{+}e^{-1} \quad \sigma_{i}^{+}e^{-1} \quad \sigma_{i}^{+}e^{-1}$   
then  $A_{u} = \sum_{i} A_{i} \quad O_{e}$   
where  $d_{e} = -\frac{1}{Y_{L}} \sum_{k+\delta i} \frac{\sin(k) \sin k}{(unk - k)^{2} + \sin^{2}k}$   
 $TO \quad kinid = \frac{1}{Y_{T}} \int_{-T}^{T} dk \quad \frac{\sin(k) \sin k}{(unk - k)^{2} + \sin^{2}k}$   
 $= -\frac{1}{S} \begin{cases} h^{e-1} , \quad h \leq 1 \\ \frac{1}{k+H} , \quad h \leq 1 \end{cases}$   
 $d_{e}(k) \quad decays exprovendually in in space (i.e. in k)$   
 $d_{e}(k) \quad decays exprovendually in in space (i.e. in k)$ 

= away from critical point, truncate: $A_3 = d_1 D_1 + d_2 D_2$  $= d_1 \sum_{j} \sigma_j^{\times} \sigma_{j+1}^{*} + \sigma_j^{*} \sigma_{j+2}^{*} + \sigma_j^{*} \sigma_{j+2}^{*} + d_2 \sum_{j} \sigma_j^{\times} \sigma_{j+2}^{*} \sigma_{j+2}^{*} + \sigma_j^{*} \sigma_{j+2}^{*} + d_2 \sum_{j} \sigma_j^{\times} \sigma_{j+2}^{*} \sigma_{j+2}^{*} + \sigma_j^{*} \sigma_{j+2}^{*} + d_2 \sum_{j} \sigma_j^{\times} \sigma_{j+2}^{*} \sigma_{j+2}^{*} + \sigma_j^{*} \sigma_{j+2}^{*} + d_2 \sum_{j} \sigma_j^{\times} \sigma_{j+2}^{*} \sigma_{j+2}^{*} + \sigma_j^{*} + \sigma_j^{*} \sigma_{j+2}^{*} + \sigma_j^{*} +$